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= 9,177,000 9,311,769 A 134,769
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2= 145,000,0002 145,000 150,000 A5,000
WEDGCRESE 5,818,414 5,828,414 210,000
=2 91,096 91,096 0
2 4,200,000 4,200,000 0
= 1,527,318 1,537,318 10,000
HAIY A AR 22 393,013 403,013 10,000
307 2I2t0IH 290,000 300,000 10,000
05 PI2HPIEt2 290,000 300,000 10,000
™AL A AT X 2 23 290,000,000 290,000 300,000 10,000
MNEBY 25 863,046 872,217 A9, 171
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= 608,516 617,687 ~9,171
TELHCARH 20,829 30,000 A9, 171
201 Y2yl 12,059 15,000 ~2,941
03 A2 HI 2,059 15,000 ~2,941
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mEEER TR 2= 8,770,0002 8,770 15,000 £6,230
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02 +g 124,026 155,026 A31,000
Ozn224d 47,727 67,727 20,000
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-=UE Z2& 19,798,000& 19,798 39,798 A 20,000
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og=s(ea) Z& 36,523,000 36,523 33,123 3,400
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02 HNE2XH 51,940 58,740 26,800
Lle=, A A 3F 22,240,000 22,240 26,040 3,800
O07=201s73) 2% 7,080,000 7,080 10,080 A 3,000
03 SHYLRAE=H| 14,600 18,600 24,000
Ol e sl Z& 14,600,000& 14,600 18,600 A4,000




